9.

Special Practice Problems

Prepared by:

~[ JEE (Mains & Advanced) ]~
Topics: Mathematical Reasoning & Statistics

~:Mathematical Reasoning:~

The inverse of the statement (p A ~q) = ris-
(D) ~pV~q) >~r (2)(~pAQ)—>~T
B)(~pvg)—>-~r (4) None of these
(~p v ~q) is logically equivalent to-

(Dpnrg @ -~p—>q
@p—>~q (4)~p—>~q

The equivalent statement of (p « q) is-
DPergvpvy

@@P—>9vq—>p)

@ pvevpv-q
@Epvaalpv~q
If the compound statement p — (~p v q) is
false then the truth value of p and q are
respectively-
(LT, T @T,F @YFT @FF
The statement (p —>. ~p) A (~p = p) is-
(1)atautology
(2) acontradiction
(3) neither a tautology nor a contradiction
(4) None of these
Negation of the statement (p A1) — (r v q) is-
M ~PAn)>~rvqg) 2)(*pv~)v(rvg)
B EADACAG @ PADA(TA~)
The dual of the statément ~pAl~qA(pvq)a~r1]
is-
D~pvil~qv(pvg) v~
2)pvigv(~pa~q)vr]
@ ~pvi~qvipag v~
@) ~pvI~qr(pArg) A~
Which of the following is correct-
M (~pv~q)=(prq)
@A P->9=(~q—>-~p)
@) ~p->~q)=(pr~q)
@~pod=P->9Vv@->p)

The contrapositive of p — (~q — ~r) is-
(D(~gqar)>~p (2Q)(g—=1)>~p
(B3)(@v-~r)>~p  (4)None of these

10.

11.

12.

13

14.

15.

16.

17.

The converse of p — (q —> 1) is-

(@A~ VP 2)(~qvnvp

(3) (@A ~T) A~p @ @A-~r)Ap

If p and q are two statement then (p < ~q) is
true when-

(1) p and q both are true

(2) p and q both are false

(3) pis false and q is true

(4) None of these

Statement (p A Q) = pis-

(1) atautology (2) a contradiction
(3) neither (1) nor (2) (4) None of these

If statements p, q, r have truth values T, F, T
respectively then which of the following

statement is true-
Hp—=>gAr @pP—->qv-r
B)prgv@gar) @DpE-ogQ-or

If statement p — (q V r) is true then the truth
values of statements p, g, r respectively-
() T,FT 2)F,T,F
(3)F,F,F (4) All of these
Which of the following statement is a
contradiction-
(DA A(~(pvq) )pv(~paq)
G)p—>q —>p 4)~pv-~q
The negative of the statement "If a number is
divisible by 15 then it is divisible by 5 or 3"
(1) If a number is divisible by 15 then it is not
divisible by 5 and 3

{(2) A number is divisible by 15 and it is not

divisible by 5 or 3
(3) A number is divisible by 15 or it is not
divisible by 5 and 3

(4) A number is divisible by 15 and it is not
divisible by 5 and 3

Ifx:5andy=—2thenx~2y=9.The
contrapositive of this statement is-

(1) Ifx-2y¢9thenx¢50ry¢—2

) Ifx—2y¢9thenx¢5andy¢—2
(3)Ifx—2y=9thenx=5andy=—2

4) Non\e of these PAGE#1



18.

19.

21.

22.

The negation of the statement "2 + 3 =5 and
8 < 10" is-

()2+3#5and 8 « 10
2)2+3#50r8>10

B3)2+3-250r8210

(4) None of these

For any three simple statement p, q, r the
statement (p A q) Vv (q A1) is true when-

(1) pand r true and q is false

(2) p and r false and q is true

(3) p, q, r all are false

(4) q and r true and p is false

Which of the following statement is a
tautology-

(HGpv~q)vipv~q)

) (~-pv~q)a(pv~q)

B)~pA(-pv~q)

4)~qA(~pv~q)

Which of the following statement is a
contradiction-

M ¢pv~qvipv~q)
2)p->qvpr~q)

B)(~-pArg)A(~-q)

@) (~pAQ) v (~q)

The negation of the statement q v (p A ~1) is
equivalent to-

(1)~qa(p—r1) Q) ~qa~(p—>1)
(B)~gA(~pAT) (4) None of these
Let Q be a non empty subset of N. and g is a

statement as'given below :-

q : There exists an even number ae Q.
Negation of the statement q will be :-

(1) There is no even number in the set Q.
(2) Every aeQ is an odd number.

(3) (1) and (2) both

(4) None of these .

The statement ~(p = q) & (~p v ~q) is-
(1) a tautology

(2) a contradiction
(3) neither a tautology nor a contradiction
(4) None of these

Which of the following is equivalent to (p Aq)
(2)~(~pA~q)
(4) None of these

Mp—-~q
(3)~(p > ~q)

27.

29.

31.

The dual of the following statement "Reena is
healthy and Meena is beautiful" is-

(1) Reena is beaufiful and Meena is healthy
(2) Reena is beautiful or Meena is healthy
(3) Reena is healthy or Meena is beutiful
(4) None of these

If p is any statement, t and c are a tautology
and a contradiction respectively then which of
the following is not correct-

(Dpat=p (2)pac=c

B)pvi=c 4)pve=p

If S*(p, q) is the dual of the compound
statement S(p, q) then S*(~p, ~q) is equivalent
to-

(1) S(~p, ~q)
3) ~8*(p. q)
If pis any statement, tis a tautology andcis a

contradiction then which fo the following is
not correct-

(2) ~S(p, q)
(4) None of these

(Mpa(=c)=p

@pv(-)=p

B)tvec=pvt

@ Pavipve)=(tac)

If p, g, r are simple statement with truth values
T, F, T respectively then the truth value of
(~pvq@ A~r)—>pis-

(1) True

(2) False

(3) True if ris false

(4) True if q is true

Which of the following is wrong-

(Dpv ~pris a tautology

(2) ~(~p) & pis atautology

(3) p A ~p is a contradiction

(4) (0 A P) > q) - pis a tautology
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32,

The statement "If 22= 5 then I get first class"

36. Let p statement "If 2 > 5 then earth will not
is logically equivalent to- rotate" and q be the statement "2# 5 or earth
(1)22=5 and I do not get first class will not rotate”.

(2) 22 =5 or 1 do not get first class Statement-1 : p and q are equivalent.
(3) 22# 5 or I get first class Statement-~2 : m —nand ~mvnareequivalent.
(4) None of these. (1) Statement—1 is true, Statement-2 is true;
Statement-2 is not the correct explanation
33. If statement. (pv-~r)>(qAr) is.false and of Statement—1.
PRSI Dot . (2) Statement-1 is false, Statement-2 is true.
(1) true (2) false (3) Statement—1 is true, Statement-2 is false.
(3) may be true or false (4) None of these (4) Statement-1 is true, Statement-2 is true;
. ]‘chcal;];iqt;ieflggﬁwmg Statement are not Statement-2 is the correct explanation of
(1)~ v ~q) and (~p A q) Statement-1.
@)~(p—>q)and(pr~q) 37.  Which of the following is a tautology :-
(3) (p—>q)and (~q - ~p) (DI~p A P)>ql—>( A D)
B p=gandzpag) @[~p A P)=>al—> (~p—>p)
35. Consider the following statements @) [~p A p) > ql —> (p o p) :
p : Virat kohli plays cricket. ¢l it oF these
q: Virat kohli is good at maths 38. Negation of the statement "No one in the class is
r : Virat kohli is successful. fond of music” is :-
then negation of the statement "If virat kohli plays (1) everyone in the class is fond of music.
cricket and is not good at maths then he is (2) Some of the students in the class are fond of
successful” will be :- music.
(1) ~pA(gAr) (2) (~pvq)Ar (3) There exists a student in the class who is fond
(3) pA(~gA~T) (4) None of these " (°2f) '::;"(:é) -
Answer -K ey
Que. |1 2 3 4 5 6 7 8 9 10 | 11 112 | 13 [ 14 | 15
Ans. 3 4 2 2 4 3 2 1 1 3 1 4 4 1
Que. 16 |17 |18 [ 19 |20 |21 |22 |23 |24 [25 [ 26 |27 | 28 | 20 | 30
Ans. |4 1 3 4 1 3 1 3 3 3 3 3 2 4 1
Que. |31 [32 |33 |34 |35 |36 |37 |38
Ans. |4 3 3 4 3 4 3 4
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1.

Previous years Questions:

The statement p - (q— p) is equivalent
[ATEEE-2008]
p->(p-q) @ p->@va

G)p > (Prq) 4)p > (peq)

Let p be the statement “x is an irrational

number”, q be the statement “y is a

~ trascendental number”, and r be the statement

“x is a rational number iff y is a transcendental
number”. [ATEEE-2008]

Statement —1 : ris equivalent to either q or p.
Statement -2 : ris equivalent to (p « ~ q)

(1) Statement —1 is false, Statement -2 is true
(2) Statement—1 is true, Statement—2 is false

(3) Statement—1 is true, Statement-2 is true;
Statement-2 is a correct explanation for
Statement—1

¢
(4) Statement—1 is true, Statement-2 is true;
Statement—2 is not a correct explanation for
Statement—1

Statement-1: ~(p <> ~ q) is equivalent to

peq.

Statement-2 : ~(p < ~ q) is a tautology.
[AIEEE-2009]

(1) Statement—1 is true, Statement-2 is false.

(2) Statement-1 is false, Statement-2 is true.

(3) Statement—1 is true, Statement-2 is true ;

Statement—2 is a correct explanation for
Statement—1.

(4) Statement-1 is true, Statement—2 is true ;

Statement-2 is not a correct explanation for
statement-1.

4.

Let S be a non-empty subset of R.

Consider the following statement :

p : There is a rational number x € S such that
x>0

which of the following statements is the

negation of the statement p ? [AIEEE-2010]

(1) There is a rational number x € S such that
x<0

(2) There is no rational number x € S such
that x <0

(3) Every rational number x € S satisfiesx <0

(4)x € S and x £0 = x is not rational

Consider the following statements

p : Suman is brilliant

g : Suman is rich

r: Suman is honest

The negation of the statement "Suman is
brilliant and dishonest if and only if Suman is
rich" can berexpressed as :-
()~qe~par  (D~(p a~1q

B)~par@e~1) @-~@QepPa-~n)
The only statement among the followings that

[AIEEE-2011]

is atautology is :
Mg—>[prP—>9)]

Q@)pA (v

Gpviprq
@lprP—=2>9l—4q

The negation of the statement

[AIEEE-2011]

[AIEEE-2012]

"If I become a teacher, then I will open a

school", is : |

(1) I will not become a teacher or I will open a
school.

(2) I will become a teacher and I will not open
a school.

(3) Either I will not become a teacher or I will
not open a school.

(4) Neither I will become a teacher nor I will
open a school.
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Consider :
Statement-1: (pA~q) A(~ pAq) isafallacy.

Statement-Il : (p > q) <> (~q—> ~p)isa
tuatology. ~ [JEE-MAINS-2013]

(1) Statement-I is-true, Statement-II is true;
statement-II is a correct explanation for
Statement-L.

(2)Statement-I is true, Statement-II is true;
statement-II is not a correct explanation for
Statement-1.

(3) Statement-I is true, Statement-II is false.
(4) Statement-I is false, Statement-II is trﬁe.
The statement ~(p <> ~q) is : [JEE(Main)-2014]
(1) equivalenttop <> q

(2) equivalent to ~p & g

(3) a tautology (4) afallacy

10.

11.

12.

The negation of ~ sv(~rnas) is equivalent
to : [JEE(Main)-2015]

(1) sv(rv~s) (2) sar

(3) sA~r (4) salra~s)

The Boolean Expression (pA~q)vqVv(~pAq) is
equivalent to :- [JEE(Main)-2016]
(D) pv~q (2) ~prq

() prq @ pvq

The following statement '

Pp—>q)>(~p—>q@ —qlis:
[JEE(Main)-2017]

(1) a fallacy )

(2) a tautology

(3) equivalent to ~ p = q

(4) equivalent to p = ~q

Previous years Questions Answer-K ey:

lQue.ll 2 3 4 5 6 i 8 9.110 k11 112
Ans. |2 | 1 1 | 3 |24 | 4 2 2 1 2 4|2|_
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~:Statistics. ~

Arithmetic mean, weighted mean, Combined

mean

Mean of the first n terms of the A.P.
a,(a+d), (a+2d),
(n—1)d

(1) ar 24 (2) a+——
2 2

B)a+(n-1)d 4)a+nd
The A.M. of first n even natural number is -
n+1 n
(Dnn+1)(2) —2— 3) -i- @n+1
The A.M. o_f W "E5 1 Co posd “Cn is -
(l) 2 (2) 2n+l (3) 2n 4 2n+l
n n+l “) n+l

If the mean of numbers 27, 31, 89, 107, 156 is
82, then the mean of numbers 130, 126, 68,
50, 1 will be-

(1) 80 (2) 82 3)75 (4) 157

If the mean of n observations x,, X,, ....... X is
X, then the sum of deviations of observations
from mean is :-

(Ho (2) nX
3) % (4) None of these

The mean of 9 terms is 15. if one new term is
added and mean become 16, then the value of
new termis :-

(1)23 2)25 (3)27 4) 30

If the mean of first n natural numbers is equal
n+7 o

to 3 then n is equal to-

(1) 10 @) 11

(312 (4) none of these

The mean of first three terms is 14 and mean
of next two térms is 18. The mean of all the
five terms is-

155 @150 @)152 @156

If the mean of five observations X, X + 2,
X+4,x+6and x + 8 is il, then the mean of
last three obsevations is-

(D) 11 ()13 @315 D17

10.

11.

12.

13.

14.

15,

16.

The mean of a set of numbers is X. If each
number is decreased by A, the mean of the new
setis-

(1) x @ x+L () A-X @ Xx-A
The mean of 50 observations is 36. If its two
observations 30 and 42 are deleted, then the
mean of the remaining observations is-

(1)48 (2)36

(3) 38 (4) none of these

In a frequency dist. , if d, is deviation of variates

zfid;

from a number ¢ and mean = £ + Zf ,then {

is:-

(1) Lower limit

(2) Assumed mean

(3) Number of observation

(4) Class interval

The A.M. of n observation is X . If the sum of
n — 4 observations is K, then the mean of

remaining observations is-

) nx-K
() ——

3 nX-K 1 nx — (n 4)K
3 ) =——
The mean of values l,——,l, ...... l which have

: n
frequencies 1, 2, 3, ........ n resp., is :-
2n+l 2 n+l1 2
) @c @5 @

The sum of squares of deviation of variates
from their A.M. is always :-

(1) Zero

(2) Minimum

(3) Maximum

" (4) Nothing can be said

If the mean of following feq. dist. is 2.6, then

. the value of fis :-

x, [1|2]3]4]5]

£f |5[4[f|2]3
(23
(4) None of these

()1
(3)8
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18.

19.

20.

21.

22,

gweighted mean (W.M.) is computed by

ZX Zw;

! WM =22

- @ WM
HWM.= 28 gy wm= DR
GWM="T5 @) s

The weighted mean of first n natural numbers
when their weights are equal to corresponding
natural number, is :-

n+1

(1) —-

(n +1)(2n+1)
6 (4) None of these

2n+1

()

3)

The average income of a group of persons is

-x and that of another group is . If the number
of persons of both group are in the ratio 4 : 3,
then average income of combined group is :-

x+y 3x+4y

(1) 2)

4x+3y

(3)

Ina group of students, the mean weight of boys
is 65 kg. and mean weight of girls is 55 kg. If
the mean weight of all students of group is 61
kg, then the ratio of the number of boys and
girls in the group is :-

1)2:3 @3:1

(4) None of these

(3)3:2 (4)4:3

Median, Mode

The median of an arranged series of n even
observations, will be :-

€8] ( )th term

2) ( ) th term
3) (gn) th term

(4) Mean of ( )th and [ ) th terms

The median of the numbers 6, 14, 12, 8, 10,9,
11,is :-
(D8

(2)10 @105 @1

23.

25.

26.

Median of the following freq. dist.

x, [3[6[10[12] 7 [15

£ [3[4]2]8]13]10
7 2)10
(3)8.5 (4) None of these
Median is independent of change of :-
‘(1) only Origin
(2) only Scale
(3) Origin and scale both

(4) Neither origin nor scale

A series which have numbers three 4's, four
5's,five 6's, éight 7's, seven 8's and six 9's then

the mode of numbers is :-
D9 ()8 (37 O
Mode of the following freqency distribution

x: | 4 5 6 7 8
f: |6 7 110 8 3

105 (3)8

26 410

27. 'The mode of the following freq. dist is :-
| Class [1-10 [ 11-20|21~-30|31-40{41-50

£ | 5 7 8 6 4

(1)24 (2)23.83 ‘

(3_) 27.16 (4) None of these
Symmetric and asymmetric distribution, Range
28. Foranormal dist :-

(1) mean = median

(2) median = fnode

(3) mean = mode

(4) mean = median = mode
29. The relationship between mean, median and

mode for a moderately skewed distribution is-
(1) mode = median - 2 mean

(2) mode = 2 median — mean

3) mode 2 median - 3 mean

4) modc 3 median - 2 mean

PAGE#7



"30. 'Therange of observations 2,3, 5,9, 8,7, 6,5,

31,

32.

33.

3.

3s.

7,4,3is -

(1)6 2)7 (3)5.5 (4) 11

Mean Deviation

The mean deviation of a frequency dist. is equal
to:- |

2d, 2|,
(1) Efi (2) F

2fd, X, |d,
®) 3f @) —5%

Mean deviation from the mean for the

observation -1, 0, 4 is-

14
o5

3)2
Mean deviation of the observations 70,42, 63,
34, 44, 54, 55, 46, 38, 48 from median is :-

(7.8 (2)8.6
(3)7.6 (4)8.8

Mean deviation of 5 observations from their
mean 3 is 1.2, then coefficient of mean

2
.(2)5

(4) none of these

deviation is :-
. (1)0.24 204
3)2.5 (4) None of these

The mean deviation from median is

(1) greater than the mean deviation from any

other central value

(2) less than the mean deviation from any other |.

central value

(3) equal to the mean deviation from any other |

central value

(4) maximum if all values are positive

36.

37.

38.

39.

40.

41.

42.

Variance and Standard Deviation

X
The variate x and u are related by u =

h
then correct relation between ¢, and o is:-
(1) o, =ho, (2)o,=h+o,

(3) o, =ho, 4) o,=h+o,
The S.D. of the first n natural numbers is-
n> =1 n’-1

¢Y) 2
n®-1 n’-1
3 4
(3) “4) 12

The variance of observations 112, 116, 120,
125,132 s :-
(1)58.8
(3)61.8

(2)48.8
(4) None of these

10 10
If D (x,—15=12 and ) (x,-15=18
i=1 i=1

then the S.D. of observations X , X, ........... X0
is :-
734 2>
(1) 3 )3
4
(3) 3 (4) None of these
The S.D. of 7scored 1, 2, 3, 4, 5, 6, 7 is-
(1)4 (2)2
G3) V7 (4) none of these
The variance of series a,a+d,a+2d, .....,a+
2nd s :- _
n(n+1 +1
O
2 . 3
n(n+1) ., n(n+1) ,
—d d
@ ¢ W=
Variance is independent of change of-
(1) only origin
(2) only scale
(3) originand scale both

(4) none of these
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43.

45,

If the coefficient of variation and standard

deviation of a distribution are 50% and 20
respectively, then its mean is-

(1)40 (2)30
(3)20 (4) None of these

If each observation of a dist. whose S.D. is o,
is increased by A, then the vari ance of the new

46.

47.

If each observation of a dist., whose variance is
o?, is multiplied by A, then the S.D. of the
new new observations is-

(o 2) Ao

3) Mo 4 Ao
The standard deviation of variate X,is . Then

_ ax; +b
standard deviation of the variate ]
observations is - ' c
(Do o+)h (B)a® @) o2+ where a, b, ¢ are constants is-
The variance of 2, 4,6, 8, 10 is- ) (%)o_ @) glo.
OF: 2 V8
a2
3)6 (4) none of these 3) [?— c (4) None of these
Answer-Key:

' 16|17 |18 [ 19| 20
3jafsfef7]8]o[10]1n|{12]3]14] 16 :
[Md;#ﬂ331224242234214233
mﬂ B|u|%[22|7][28]20 0] |35 |3 %][57 0| 0%
r4'2343224424322214222

S
Que.| 41 431 44| a5 48 47
Ans| 2 1 1 3 1 3|2
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The mean of Mathematics marks of 100
students of aclass is 72. If the number of boys
is 70 and the mean of their marks is 75. Then
the mean of the marks of girls in the class will
be- [AIEEE-2002]
(1)60 (2)62 (3)65 (4)68

In an experiment with 15 observations on x,
the following results were available
>x%=2830, 2x = 170. One observation that

was 20 was found to be wrong and it was
replaced by its correct value 30. Then the

corrected variance is- [AIEEE-2003)
(1)8.33 (2)78
(3) 188.66 (4)177.33

The median of a set of 9 distinct observations
is 20.5. If each of the largest four observations
of the set is increased by 2, then the median of

the new set- [AIEEE-2003]
(1) remains the same as that of the original set
(2) is increased by-2

(3) is decreased by 2

(4) is two times the original median

Consider the following statements- [AIEEE-2004]
(a) Modé can be computed from histogram
(b) median is not independent of change of scale
(©) vaﬁance is independent of change of origin

and scale.
which of these are correct- _
()only (a)and (b)  (2) only (b)
(3) only (a) - (4)(a), (b) and (c)

In a series of 2n observations, half of them
equal a and remaining half equal —a. If the
standard deviation of the observations is 2, then
|a] equals- [AIEEE-2004]

(12 2) V2 @)1 4 v2/n

10.

11.

If in a frequency distribution, the mean and
median are 21 and 22 respectively, then its

mode is approximately- [AIEEE-2005]

(3)20.5 (4)22.0

(1)240 (2)25.5

Let X, Xypueeneee X be n observations such that
> x? =400 and )_x, =80. Then a possible

value of n among the following is- [AIEEE-2005]

(1)12 )9 3)18 @15

Suppose a population A has 100 observations
101, 102, ..... 200 and other population B has
100 observations 151, 152, ..... 250.If V, and
V represent the variance of two population

respectively then V,/V,, is- [AIEEE-2006]

M4 (49 ()23 @1

The average marks of.boys in a class 52 and
that of girls is 42. The average marks of boys
and girls combined is 50 then the parcentage

of boys in the class is- [AIEEE-2007]

120 (2) 80 3)60 440

The mean of the numbers a, b, 8, 5, 10 is 6

. and the variance is 6.80 then which one of the

following gives possible values of aand b ?

[AIEEE-2008]
(1)a=0,b=7 (2)a=5b=2
(3)a=1,b=6 (4)a=3,b=4

If the mean deviatio_n of the numbers
1,1+d,1+2d,..., 1+ 100d from their mean

is 255, then that d is equal to-  [AIEEE-2009)
(1) 10.1 (2) 20.2
(3) 100 (4) 200
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12.

13.

14.

15.

Qu
Ans.

PAGE#11

n observations,
Statement-1 : The variance of first n even | 16.  Let Xy, X3, e » Xn be ; and lt?t
X be their arithmetic mean and 62 be theijr
. n*-1 variance. [AIEEE-2012)
natural numbers is Statement—1 : Variance of 2x,, 2X,,.....2x_is
; 402
Statement-2 : The sum of first n natural Statement-2 : Arithmetic mean of 2x,,
_ ; 2Xgyeeees 2Xp 18 4X.
numbers is 2 and the sum of squares 0 (1) Statement-1 is true, Statement-2 is false.
(2) Statement-1 is false, Statement-2 is true.
first n natural numbers is n(n +1)(2n +1) _ (3) Statement-1 is true, Statement-2 is true ;
6 Statement—2 is a correct explanation for
[AIEEE-2009] Statement—1. - ]
(1) Statement-1 is true, Statement-2 is false. 4) Statement—zl TSI, State:ncnt]—Z ]ts' trufe .
(2) Statement-1 is false, Statement-2 is true. Statement-—2 is not a correct explanation for
(3) Statement-1 is true, Statement—2 is true ; SIETTenE--.
arement !S e, Statement- 1.s €21 17. Al the students of aclass performed poorly in
Statement-2 is a correct explanation for Mathematics. The teacher decided to give
Statement-1. _ _ grace marks of 10 to each of the students.
(4) Statement-—1 is true, Statement-2 i true ; Which of the following statistical measures will
Statement-2 is not a correct explanation for not change even after the grace marks were
statement-1. given? (JEE-MAINS-2013]
For two data sets each of size is 5, the variances (1) mean (2) median
are given to be 4 and 5 and the corresponding (3) mode (4) variance
measn are given to be 2 and 4 respectively, then | 18, The variance of first 50 even natural numbers
the variance of the combined data set is :- is :- [JEE(Main)-2014]
[AIEEE-2010) 833 437
1 —_— —
s T 1a (1) 4 (2)83 (3)437 (4) 4
(1) ) 2) 2 Q)6 ) 2 19. The mean of the data set comprising of
If the mean deviation about the median of the \1,210 ub:flwfgo?z 1S.;il:]'eI tf:(;l ° :: :ihetibrie;v z:zaox
numbers a, 2a, .......... , 30a is 50, then |a] observations valued 3,4 and 5 are added to the
equals:- [AIEEE-2011] data, then the mean of the resultant data, is :
14 2)5 (3)2 4)3 (JEE(Main)-2015)
A scientist is weighing each of 30 fishes. Their (1) 15.8 (2) 14.0
mean weight worked out is 30 gm and a (3) 16.8 4) 16.0
standard deviation of 2 gm. Later, it was found | 20. If the standard deviation of the numbers 2, 3,
that the measuring scale was misaligned and aand 11is 3.5, then which of the following is
always under reported every fish weight by 2 true ? [JEE(Main)-2016]
gm. The correct mean and standard deviation (1)3a2-23a+44=0
(in gm) of fishes are respectively : (2) 3a2 - 26a + 55=0
[AIEEE-2011] (3)3a2-32a+84=0
(1)28,4 (2)32,2 (3)32,4 (4)28,2 (4)3a2-34a+91=0
(] N [ ] [ ] .
A] 218 | 4]6 |6 |7 |89 |10/11|12|13|4]|15]se[q7][ 8 ,;1..1,”]
3 2 1 1 1 1 3 4 2 4 1 2 2 1 2 1 4 2 2 3




